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University of Eswatini
Department of Accounting and Finance
Main Exam Paper - Semester - II
Programme of Study : Bachelor of Commerce
Year of Study : Year Four/ Levél Six
Title of Paper : Advanced Management Accounting II
Course Code : ACF414/AC425/AC505
Time Ailowed : 3 Hours.

Instructions: 1. Total number of questions on this paper is four (4).
2. Answer all the guestions.

3. The marks awarded for a question / part is indicated at the end of each
question / part of guestion.

4. Where applicable, submit all workings and calculations on the answer
sheet alongside the case.

5. Calculations are to be made to two decimal places of accuracy nniess
otherwise instructed.

Note: You are reminded that in assessing your work, account will be taken of accuracy of
the language and the general quality of expression, together with the layout and
presentation of your final answer. :

Special requirement : Calculator & Area under the Normal
Distribution Curve Tables

This paper is not to be opened until permission has been granted by the invigilator.
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QUESTION 1:

Sid Shongwe is the Human Resources director of Shidwashini Consultants, a company that
specializes in consulting and research. One of the training programmes Sid is considering for
the middle-level managers of his company is leadership training. Sid has listed a number of
activities that must be completed before a training program of this nature could be conducted
along with their optimistic, pessimistic and most likely completion times in days in the
accompanying table.

Activity Estimated duration (in days) Immediate
‘ Optimistic (&) .| Most likely (m) Pessimistic (b). | predecessor
A I 2 3 -
B 2 3 4 --
C 1 2 3 -
D 2 4 6 B
E 1 4 7 AD
F 1 2 9 C
G 3 4 11 EF
. H 1 2 3 G
Required:
1) Determine the expected time and variance for each activity (8 marks)
i) Draw the network diagram. (5 marks)
iil)  Mr Sid would like to determine the earliest and latest start times for each activity
and also slack for each activity. (5 marks)
iv) Mr Sid would like to determine the critical path for the entire project as well as the
expected completion time for the total project (3 marks)
V) Calculate the probability that the project will be completed in 20 days? (4 marks)
vi) Explain the major differences between PERT and CPM? (5 marks)
Total (6*5 = 30 mavks)
QUESTION 2:

The management of Girihar Company is disappointed with the company’s performance and is
wondering what can be done to improve profits. T
Girihar Company’s statement of Frofit or Loss for the last month of Aptil 2020 is given

below:

Girihar Company
Statement of Profit or Loss for one
month ended 31 April 2020

Revenue - E1,500,000
T.ess variable expenses 672,000
Contribution margin 828,000
[ess fixed expenses 756,000
Operating profit ‘ E72,000
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By examining revenue and cost records, you have determined the following:

1. The company is divided into two sales regions — Manzini and Hhohho. The Manzini
region recorded E600,000 in revenue and E 312,000 in variable expenses during April
2020, the remaining revenue and variable expenses were recorded in thelThohho
region. Fixed expenses of E120,000 and E108,000 are traceible to the Manzini and
Hhoho regions, respectively. The rest of the fixed expenses are common to the two
regions. ' '

2. The company sells two. products - Televisions and Sound Bars. Revenue of
Televisions and Sound Bars totalled E 100,000 and E500,000 respectively in the
Manzini region during April 2020. Variable expenses are 22% of the sclling price for
Televisions and 58% for Sound Bars. Cost records show that £60,000 of the Manzini
region’s fixed expenses are traceable to televisions and E80,000 to sound bars with
the remainder common fo the two products.

Required:

i) Prepare segmented statements of profit or loss first showing the total company
broken down betweern sales regions and then showing the Manzini territory
broken down by product line. Show both amount and percentage columns for the
company in total and for each segment (20 marks}

ii) Examine the statement you have prepared in (i) above showing the total company,

" and, segmented by sales region. Which key issues revealed by thiis statement that
should be brought to the attention of management? s (5 marks)
iiiy  Examine the statement you have prepared showing the Manzini region segmented
by product lines. Issues revealed by this statement should be brought to the
attention of management? (5 maxks)
Total (30 marks)
QUESTION 3: '

W&T Inc. is a multinational conglomerate, The company has a business division, W&T
Tyres, which manufactures tyres for motor cycles-and cars and an automobile division, W&l
Automobile that manufactures cars.

W&T Automobile purchases tyres for its automobiles from an outside vendor. However, at
the end of the current month, the contract with the vendor for the tyres of vans will expire.
Senior management at W&T Inc. feel that the automobile division of the company should
purchage tyres for vans from its own tyre division rather than renewing the contract with the
outside vendor. The managers of both divisions are also interested in having intra-company
{ransactions as it will be in the hest interests of both divisions as well as the company as a
whole, _ - ' -

The tyres for vans magtifactured by W&T Automobiles ate of standard size.

W&T Automobile needs 30,000 tyres in a month to manufacture vans. The quality of the
tyres supplied by the outside vendor and those manufactured by W&T Tyres are similar.
W&T Automobile currently pays E146 to the outside vendor for a van tyre. However, W&T
Tyres charges E148 for a van tyre. The production capacity of the division is 100,000
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van tyres per month. The variable cost to produce one van tyre is E70. The fixed cost
incurred in the manufacture of van tyres is E 200,000 per month.

Required:

iii)

Detertnine the acceptable range of transfer prices if W&T Tyres sells 74,000 tyres
per month: - ‘ ‘ ‘

a) If W&T Automobile proposes to buy van tyres at E9Q each from W&T Tyres,

would the management of W&T Tyres be interested in the proposal?
b) If W&T Automobile proposes to buy van tyres at E90 each from W&T Tyres
would the management of W&T Tyres be interested in the proposal?
| (9 marks)
W&T Automobile proposes buying van tyres at E90 each from W&T Tyres. If
W&T Tyres sells 90,000 van tyres per month, will the management of W&T
Tyres still be interested in W&T Automobile’s proposal? {7 marks)

What are the advantages and disadvantages of the method used by W&T Inc, to

negotiate the transfer price? (4 marks}
Total (20 marks)

QUESTION 4:

i

ii1)

Mndzebele Corporation, Mbabane is anxious to enter the electronic calculator
market. Management believes that the order to be competitive in neighbouring
markets, the electronic calculator that the company is developing cannct be priced
at more than E800. Mndzebele requires a minimum return of 12 percent on all
investments. An investment of 15,000,000 would be required to acquire the
equipment needed t¢ produce the 300,000 calculators that management believes
can be sold each year at the E1,500 price, '

Required:
Compute the target cost of prbducing one calculator. L (6 marks)

Discuss the reasons why the theory of constraints emphasizes managing
constraints? . : . (7 marks)

Explain ways in which throughput accounting misrepresents the thequy' of
constraints? (7 marks)
Total (20 marks)

End of main exam question paper
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